[3] 2

SIDE VIEW
AND DOOR_HINGES

POSITION 6 INCHES/ ~

FORWARD OF SEAM\ 6

WHERE WINDSCREEN ~—
MEETS BODY

CUT SLOT IN DOOR
FOR OUTSIDE
DOOR LATCH PIN

| (THIS LATCH ONLY)
/1 7\SPACE EVENLY
\U/ )6 PLCs.

1Y) [aowa

Lo E somwareton
SRR \’«m&%&\\&\*&‘%\\c\%

REF.
NO. PART NO. PART NAME oTY.

1. E41-7120 DOOR = PILOT'S SIDE.......... 1

2. E41-3130 STALL STRIP.....coeeennnnnnns 2

3. E41-3110 DOOR HINGE.....e0veeeannaenens 4 P

4. EA41-3120 BODY HINGE.....uevevonoeonnns 4 P

5. E41~1170 DOOR LATCH LEFT..evececocsces 3

6. E41-1180 DOOR LATCH RIGHT........c.... 3

7. E41-2200 DOOR LATCH SPACER............ 6

8. E41-3100 OUTSIDE DOOR LATCH PIN....... 2

9. E41-7140 DOOR STIFFENER-PILOT'S SIDE..1 . o

10. E41-1120 WEATHER STRIPPING (17 FT.)...1 i . \POSITION 6 INCHES

11. EO00-2300 BOLT 3/16 X 1/2.ccececencnss 16 . IBEHIND SEAM WHERE

12. EO00-2302 SCREW 3/16 X 5/8 CSK..v.vv... 4 \ DQOR POST MEETS FLOOR
13. E00-2304 BOLT 3/16 X 7/8.cvveeernnecns 6 |

14. EO00-3301 3/16 FIBERLOCK NUT...:.0c0000 26

15. E00-4301 3/16 REGULAR WASHER......... 24

16. EO00-4302 3/16 LARGE WASHER...:0000000 12

COUNTERSINK

T@P AND ICTTQM

LATCH _INSTALLATION

YT IR

USE ON
MIDDLE LATCH

POSITION 2 INCHES
BELOW BODY SEAM

ROTORWAY

SCALE: NQNE DRAWN BY W A Q

REVISED

pate: 2 -] -"}

DRAWING NUMBER

E41-2000

17 X 22 PRINTED ON NO. 1000H CLEARPRINT ¢




